DAV PUBLIC SCHOOL, PPT
SUB-MATHEMATICS CLASS-III
CHAPTER- MONEY

WORKSHEET (BASIC)

Choose the correct option

1-How many 50 paise coin will you get from 2 rupees coin? (4 x1=4)
(a) 2 (b) 4 (c) 8

2- 9 rupees 25 paise is same as?
(a) Rs.9.25 (b)925p (c) both a&b

3- Which of the following coins does not exist in Indian currency?

(a) Rs.2 (b) Rs.5 (c)Rs.1
4-RS18 + =Rs65
(a) Rs.37 (B) Rs.47 (c) Rs.57
Answer the following question (2x1=2)

5. Write 75 rupees & 50 paise
(a)in words..................
(b)In figures........c.c........
Answer the following questions (2 x2 =4)

6. Add : Rs 787.25 & Rs 47.68
7. Subtract : Rs 23.43 from Rs 88.95

Answer the following question (2 x 3 =6)

8. Rohit bought a toy for Rs.99.65 and a story book for Rs 63.25 . How much he spend ?9.
(a)Converyt into paise : Rs 29 .50

(b)Convert into rupees and paise : 495 paise

(c)Convert into rupees: 75 paise



10. Prepare a cash memo of the following question.

Niru General store has the following items . Mrs Pradhan ordered one item each ,find the

amount spent by her & prepare a cash memo

MENU
Pen 12.50
Pencil 5.50
Waterbottle 35.25
Tiffin Box 60.00




DAV PUBLIC SCHOOL, PPT
SUB-MATHEMATICS CLASS-III

CHAPTER- MONEY
WORKSHEET (STANDARD)
Time — 45 min Full mark-20

Choose the correct option [4X1=4]
1. How many 50 paise coins are there in a Rs.10 note ?
(a) 25 coins (b) 35 coins  (c) 20 coins
2.305p=__.
(a) Rs. 3.05 (b) Rs. 3.50 (c) Both (a) and (b)
3. Which of the following coins does not exist in Indian currency ?
(a) Rs. 2 (b) Rs. 10 (c) Rs. 25

4. Arman had Rs.90.He purchased a pen for Rs.55.How much money was with him
?

(a)Rs.45 (b) Rs.35 (c) Rs.40
Answer the Following [2x1=2]
5. Convert 4005p into rupees and paise.

6. Convert Rs 0.20 into paise.

Simplify the following [2x2=4]
7.  Rs.53.75 8. Rs.409.20
+Rs.72.05 +Rs.107.54

+ Rs.51.80



Answer the following [2x3=6]

9. Mrs Lal bought onions for Rs.32.50,Carrots for Rs.22.25 and potatoes for
Rs.18.80.How much did he spend on vegetables?

10. Find out the number of 5 paise coins in each.

(a) Rs.9.65 (b) Rs.30.00

11. Given on the rights is the rate list of things in super market. Mrs Padhi [1x4=4]

Purchased one items each. Prepare a bill and find the total amount spent by her.

Items Rate
Bread Rs.15.00
Jam Rs.48.00
Soap Rs.16.25
Juice Rs.72.15
Chocolate Rs.20.00




DAV PUBLIC SCHOOL, PPT
SUB-MATHEMATICS CLASS-III
CHAPTER- MONEY

WORKSHEET (ADVANCE)
Time — 45min Full mark - 20

Choose the correct Option [1x4=4]

1.Ram spent Rs.80.20 for a video game, while shyam spent Rs.20.10 more than
Ram. The amount by spent Shyam is

(a) Rs. 99.90 (b) Rs 100.30 (c) Rs.99.95
2. Rahul has Rs.120. He wants to buy a toy. Money does he needs ?
(a)Rs. 150 (b)Rs.65 (c) Rs.90
3. Which of the following coins does not exist in Indian currency?
(a) Rs.10 (b)Rs.25 (c) Rs.5
4. 90 Rupees is equal to
(a)Rs.900 paise (b) 9000 paise (c) 0.90 paise

Answer the following. [2x1=2]
5. Convert 50015 paise into rupees and paise.

6. Write the number of 25 p coins in Rs.9.25.

Answer the following. [2x2=4]

7. Add: Rs247.50,Rs.178.75 and Rs.105.35

8. Substract: Rs.99.87 from Rs.907.05

Answer the following. [2*3=6]

9. Rahul has Rs.590.50. Ramu has Rs.125.30 more than Rahul. Then much money
is with both them ?



10. Deepa had Rs.180 with her, she bought ricefor Rs.35.50,Flour for Rs.50.50 and

sugar for Rs23 . After shoping how much money was left with her ?

11. Prepare a cash memo

Given on the right is the rate list of things

In the ‘MAHAVIR STORE’.

Mr Sashtri purchased 3 toothpaste, one
cornflakes,

five detergents, two biscutes, and two cakes.

How much money did he spend.

[1 x4=4]

ITEMS RATE PER ITEM
Toothbrush Rs 18
Cornflakes Rs 89
Detergent Rs 15
Biscuit Rs 35
Cake Rs 27




DAV PUBLIC SCHOOL, PPT

SUB-MATHEMATICS  CLASS-III
CHAPTER- MONEY
WORKSHEET (HOTS)

1. Subtract: 1235 paise from Rs20.

2. Subtract Rs75.50 from the sum of Rs 35.40 & 5000 paise.

3. Cost of one pencil is Rs 5.2 .you buy 5 pencils of same price, if you
pay Rs 40 to the shopkeeper then find the money you get back?

4. Add: 2456 paise & Rs 50

5. Add 56 rupees 10 paise, 6 rupees 65 paise,80 paise and 95 paise.

6. Rahim tells Ravi that he has an amount of Rs 100 in total in his sack.
He says that these are only five notes and,”If you can tell the correct
denominations of the notes, | will give you all the money .” Now Ravi is
in confusion. Help Ravi to solve the problems.



